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1. A few gram seeds were placed in each of
the three pots A, B and C containing soil.
The soil in pot A is mixed with some
green twigs and leaves. The soil in pot B
is mixed with old cow dung while soil of
pot C is mixed with urea. Pots are
watered regularly. Which of the
following will be observed after 10 days?

1. Lot of growth in A
2. Not much growth in B
3. Lot of growth in B but very little

T/n/growth inC
. Very little growth in A but lot of

growth in B and C

2. Barley is ground to powder. The powder
is mixed with water and some yeast. The
mixture is kept in a closed and moist
container. Which of the following will be
pr:)duced?

1. Sodium bicarbonate
2. Alcohol only

ybon dioxide only
7 Alcohol and carbon dioxide
3. Which is the main function of RBC?

ﬁ ght diseases in the body
~ To carry oxygen to different parts of

the body
3. To increase levels of WBC
4. To arrest bleeding

4. Find the odd one out of the following.

1. Cotton
2. Silk
3. Wool

4 Hair
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5. Which of the following rotation of crops
will reduce dependence on the use of
chemical fertilizers?

1. Rice and Chilli
2. Wheat and Potato

j/Potato and Rice
7 Gram and Rice
6. From the following statements

A. Carbon dioxide taken in through
stomata is used in photosynthesis.

B. Oxygen taken in through stomota is
used in respiration.

C. Water vapour taken in through
stomota is used in transpiration.

Select the correct alternative.
7 Aand B

2. AandC

3. BandC

4. A, B an(.;i C

7. From the following drawings of flowers
identify the flower which will self

pollinate?
Stigma © _J——Stigma
nthers
2
8. Which of the following is a source of

1
instant energy?

1. Salt
yl./(silucose
3. Water
4. Starch

5.

8.
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9. The biological treatment of waste water
makes use of

I. Aerobic bacteria and fungi
2. Anaerobic bacteria and algae
3~ Aerobic and Anaerobic bacteria
4. Anaerobic bacteria and eucalyptus
leaves

10. A similarity among black buck, gharial
rhinoceros and marsh crocodile is tha
they are

1. animals with thick chitinous skin.

2. oviparous.
%ndangered species.

4. found in the forests of North-East
~ India.

I'1. The nasal openings in human beings are
comparable to

1. gills of fish.

2. blood vessels in an earthworm.
7 spiracles of the cockroach.

4. root hairs of:plants.

12. Rani had an uneven plot of land in which
water was scarce. What system could she
adopt for irrigation?

. Canal
A;nkler
3. Drip

4. Hand pump

10.
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13. Ram was going through a forest and
found many similar plants. What amongst
the given below could be the reason for
the observed phenomenon. The plants are

13.

15.

IM TS WA H OSBRI T T | et
I et urey R | 39 <@ 7E
uReer 3 ford 1 § 9§ 5y voR
gey B 9ad &7

a. of many genera. a. @ AT B
" of only one species. b @ & F-ﬂ'!ﬁ\_:_\'.a‘? 16.
: . c. =T yorEA |t
c. capable of interbreeding. 4. G F et
d. capable of crossbreeding.
Select the correct alternative from the fr= % & v Rosr g
following
1. aandb 1. a3Rb
2 bandc 2 baRc
3. candd 3. carRd
4, aandd 4 aard
14. Match each item in Column I with 14. @fe¥ | @ UAS A & oA 11 B
appropriate one/s in Column II. IUGF A | GAA Do |
Column | Column I P | Pler 1
A | Edward Jenner | I | heredity A | TeaS SR I ﬂlﬂﬂﬁlﬁl
B | Chromosomes | II | budding L I E
: C | gz Il F1 Hife®
C | Hydra IIl | protein et G
biosynthesis vV 399 31 &
IV | smallpox vaccine V| 2T Bt
V | cell membrane VI | & @e
VI | binary fission VII | gfaaifas
VII | antibiotics Rffeaafea)
Select the correct alternative. & e o1 9a7 i |

1. A-VII, B-I, C-lI
2. A-1V, B-1, C-II

3. A-VII, B-V, C-VI

4. A-IV, B-II, C-VI

1. A-VIIL, B-1, C-II
2. A-1V,B-I,C-lI

3. A-VII, B-V, C-VI
4. A-1V, B-II, C-VI




15. Which of the following has the same
monomer unit?

et

I ré 1. Nylonand cellulose
3 2. Polyester and nylon
3. Rayon ard nylon

4~ Cellulose and rayon

16. Which of the following will be suitable
for coating dress materials of fire-men?

1. Nylon
2. Polyester
\3.~Melamine

4. Acrylic

%

17. A highly reactive element X is stored

under water. It readily reacts with
oxygen of air to give a compound Y
which dissolves in-water. The aqueous
solution of Y changes blue litmus
solutfon to red. The element X

1. Sodium
2. Sulphur
37 Phosphorus
4. Potassium

18. Two elements A and B on burning in air
give corresponding oxides. Oxides of
both A and B are soluble in water. The
aqueous solution of oxide of A is alkaline
and reacts with aqueous solution of oxide
of B to give another compound. Identify
A and B.

1. A and B both are metals
2. A and B both are non-metals
7 A is metal and B is a non-metal
1[ 4. A isanon-metal and B is metal
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19. Match List I (fraction of petroleam) with
List Ii (main uses) and select the correct
answer from the given alternatives.

19.

A 1 Qi @1 ) a7 e @
(7 STArT) & PR © o R 1 et
H O SR BT I HRA

List I (fraction List I (main uses) & 1 @ &1 [ g 11 (qea suam)
of petroleum) : THIA)
A |Kerosene I [{Metalling of roads A |faRe I [os® waft oo
B |Diesel 11 |Jet aircraft fuel . B St 1l [Sie argemt &1 sua
C [Paraffin Wax |11 | Generation of electricity | [C |[Wf%7 W 1T [faga wara
D [Bitumen IV |Lubricants D |fgm= IVI<es
1. AL BII, CIll, DIV l. Al BIL CII, DIV
2. Al, BIII, CIV, DII 2. Al BIIL CIV, DII
3-AIlL BIII, CIV, DI 3. AIL BIIL CIV, DI
4. AIV,BIl, DI, CI 4. AIV,BIL, DI, CI
20. Coal is a fossil fuel and it cannot be 20, ey ues ohaew $ov 2 ok =

prepared in a laboratory or industry
because the formation of coal

a. isa very slow process.

b. needs very low pressure and lov
temperature.

c. needs very high pressure and pigh
témperature.

d. causes air pollution.

Select the correct alternative.
1. aandb
y and d
“canda

4, dandc
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21. The necessary conditions for combustion
process to occur are

a. availability of air/oxygen.

b. availability of air/oxygen and fuel.

¢. temperature of fuel below ignition
temperature.

d. temperature of fuel above ignition
temperature.

Select the correct alternative.

I. aandb
2~ bandd
3. canda
4. danda

22. The gaseous fuels

a. burn without producing smoke.
b. have low calorific value.
c. are easy to ignite.
d. have high calorific value.
L]

Select the correct alternative.

1. aandb
2. bandc
«~3~Ccandd
4, dandb

23. Which of the following air pollutants
reduces the oxygen-carrying capacity of
blood?

1. Carbon dioxide
~Carbon monoxide
3. Sulphur dioxide
4. Nitrous oxide
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3 cdaTa
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24. Which of the following are responsible
for causing acid-rain?

1. Oxides of sulphur and carbon dioxide
2. Oxides of nitrogen and carbon
monoxide
—j‘./gydrogen sulphide and carbon dioxide
~Oxides of sulphur and nitrogen

25. On washing with soap, a turmeric stain
on the cloth turns to red because

soap solution is alkaline.

soap solution is acidic.

turmeric contains a natural indicator.
turmeric contains litmus.

aeoe

Select the correct alternative.

%&ndc
2. bandd
3. candb

4, aandd

26. Which of the following are used as an
antacid to reduce acidity in stomach?

1. Sodium carbonate and magnesium
hydroxide

2. Magnesium hydroxide and sodium
hydroxide

3. Sodium bicarbonate and calcium
roxide

. Sodium bicarbonate and magnesium
hydroxide

27. Which of the following is a chemical
change?

\V‘lcltimg of ice
.2/ Burning of magnesium in air

3. Dissolution of sugar in water
4. Blowing of wind

28. By
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' 28. By blowing between two balloons

hanging close to each other you observe
that they come closer. A similar
phenomenon is seen in

«}"the lifting of an aeroplane.

2. kite flying.

3. the lifting of balloon filled with
hydrogen gas.

4. take off of a rocket .

29. A stone tied to a string is whirled in a

~circle. As it is revolving, the string
suddenly breaks. The stone then

1. flies off radially outwards.
2. flies off radially inwards.
3~ Tlies off tangentially.
4. moves in a circle of larger radius.

30. A person moves a certain distance in a

certain time. If 1/3 of the distance is
covered in 2/3 of the time with speed V,,
and the rest of the 2/3 distance in 1/3 of

the time with speed V, then V|/V, is

1LY 20
2% ,& 300

3. 4/9

4. 2/9
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31.

In an experiment, it was observed that
when the length of a wire in an electrical
circuit is doubled, everything else
remaining same, the current becomes
half. On the other hand, if the thickness
(diameter) of the wire is doubled, the
current becomes 4 times. Two wires W,
and W5 of the same metal have the same
current passing through them. The
thickness of wire W, is twice that of W,
then the length of the wire W, is

mteen times that of wire W, . @ L

32

2. four times that of wire W, .
3. two times that of wire W, _
4. same as that of wire W,

&

\
P

TR 8| 9 UH B O P A AR
AR W, 8| I ari # |9 Rega g
waied & WRi 81 W, @1 #ieg W
T & A W, 3 g

4

W, ¥ | T 2
W, ¥ IR T B
W, 9 T 2

W, ® &R 2

i e

S

In the electric circuit shown above

1. all the bulbs will glow.

2. only bulbs 4, 5 and 6 will glow.
3. only bulb 3 will glow.

4. none of the bulbs will glow.

10
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| 33. A printed page is seen through a glass 33, P9 @ (% Y & (& §fad IS @

I:wag ! slab placed on it. The printed words FW @I @ W Jfad 3eR FW I
g’ appear raised. This is due to g W B 8| 9T R & P
Fﬁ“il 11 1 refraction at the upper surface of the 1. UEC B JIUN dd | YR Bl
POASE slab. g BT 2|
W ’ 2. refraction at the lower surface of the 2. U & Aol da ¥ "SI @
1 '.
N slab. gt BT 1
N} ‘ 3. partial reflection at the upper surface 3 Uee B FUN a9 q TP P
of the slab. SR TR B 2 |
4. partial reflection at the lower surface 4 UeT B PrEd 99 ¥ ySE #
e | sifer @ 2
34. Two mirrors are placed at right anglesto  34. @ & aiﬁ'ﬂ'['\' 3 FHAA TUIT HHDIT
each other as shown in the figure. Total R E| B 9 H T O B
number of images of an object O placed ey Tl wRafawi 9 wem 2

between them, that are seen are

L*hmin\ PL
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L
. two. Lo

. two.
2. @9
<" three. P
3. four. ; )
4. six. .
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www.aryanclasses.com 'vations and certain causes
v s ... SOlUMNS I and 11 respectively
in the following table :

Table

Column I

Column II

Going up an
inclined plane is
more tiring than
walking on - a
horizontal plane

A |Magnetic force

II

It is difficult to
inflate a balloon
beyond a certain
point

I

Walking on a
sandy beach is
more tiring - than
walking on a road

C !Gravitational Force

IV

A compass needle
always points in
the  north-south

direction .

D |Friction

Select the correct alternative.

1. [I-A,II-B, llI-C, IV-D
-2 1-C, II-B, IlI-D, IV-A
3. I-B,II-C, IlI-D, IV-A
4. 1-C,11-D, llI-B, IV-A
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= 4 wd Ree g |

I-A, 1I-B, ITI-C, IV-D

I-C, 1I-B, I1I-D, IV-A

1.
2.
3. I-B,I1I-C, III-D, IV-A
4.

I-C, II-D, IlI-B, IV-A
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36.

3%

Of the following statements choose the
correct combination.

a. Grease is used to reduce friction in a
bicycle chain.

b. Ball bearings are used to reduce
friction in a fan.

c. Oil can be used to increase friction in
a car engine.

d. Talc can be used to reduce friction
when an object is sliding on a surface.

4+ b.d

2. a,c,d
3. b,c,d
4. abc

If one puts ones ears to the steel rail, the
sound of a coming train can be heard
£gven when the train cannot be seen. One
can conclude from this observation that

\a/gund travels faster in steel than in

.

air.

b. Amplitude of sound in the rail is
much larger than in air.

¢. Sound can travel larger distances in
solids than in air.

d. Quality of sound in rail is better than
in air.

The reasonable conclusions are

Mandc

2. aandb
3. bandc
4. bandd

13
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38. Decibel (dB) is a unit of loudness of
sound. It is defined in a manner such that
when amplitude of sound is multiplied by
a factor of /10 , the decibel level
increases by 10 units. Loud music of 70
dB is being played at a function. To
reduce the loudness to a level of 30 dB,
the amplitude of the instrument playing
music has to be reduced by a factor of

ATl

1. 10

210410

3. 100

4. 100410

39. Given that there is a relationship between
the orbital radius of a planet and its
period of revolution and that the periods
of revolution of Mercury, Earth, Jupiter
and Neptune are nearly 0.24, 1, 11.8 and
165 years. It follows that the period of
revolution of

]

Venus is less than 0.24 year
Mars is less than 12 years
Uranus is more than 165 years
Uranus is less than 165 years but
more than 12 years

a0 o

Of these the correct statements are:

1. aandc
2. donly
3. conly

<4/ bandd

14

38. &y P yaerar I 3B SRIAA (dB) B
W 39 yeR gRaia fear omar & &%
e @y B IEm B V10 B O W
o fear o @ SRed @1 wE 10
e | 93 wrar 2| fad wERiE § 70
SR &1 yaa Eifg 99 <@ 8| 3l
39 Udal B BH BR 30 ST AT
B o ge—ufla & @&y & Imam A
=1 e |/ F e B

10
10410

1
2
3. 100

4. 10010

Y e & =efw o ik sws
uRepHoT ST R BraT 8| g9, g,
gewfy 3R w=gd 7E & gREHor P
PHHI: TTHT 024, 1, 11.8 TAT 165 T
2| 39 T8 gaT "o & fb

39.

g;ﬁaﬂuﬁaﬂw?
HITeT T YRepHOT
I B aRepH
gl

IAH BT URFAT Pl 165 T A FH
AR 12 9§ ¥ AP |

IR F HEl HIF & —

831"-\'0
Bad d
Dad ¢
b3k d

WM~
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[

| 40. Lunar eclipse occurs when earth comesin 40, o/ @ 3R =w=1 @ 49 gt o 2
{ between sun and the moon. Solar eclipse g% U8 BT § 3R e ¥ iR
\ occurs when moon comes in between sun gezﬁ P 4" g=HT I Wl & a9 quf
and earth. This suggests that T BT 2] SH PYA ¥ Y8 Had
ferar 2 &
(1) both eclipses occur on a new moon (1) <= TR AT BT B B |
day. :
(2)-s6lar eclipse occurs on a new moon (@) smmEwm 1 W g9 AR gl
day and lunar eclipse on a full moon P T T BT 2
day.
(3) lunar eclipse occurs on a new moon (3) smrEwn B T= TEY AR g B
day and solar eclipse on a full moon GIUE BT B |
day.
(4) both eclipses occur on a full moon (4) <= wEor gRfar @1 8 2
day
41. Which is the greatest number amongst 41, 2'2 318 g e 9 ¥ | wew ¥
: AT PITT B7
zm’ 315, 8”8 and 9119 ? 7
) \ ﬁ 19
1. 9" \ . 9
2. g L J2.00 2. g8
3. 33 pICS I b 3 3
a2 : s 4. 212

42. If the product of two numbers is 21 and 42, IR} < FERI BT THGE 21 T IFTH

their difference is 4, then the ratio of the IR 4 B A S HE D WIS g S
sum of their cubes to the difference of A @ IR PT UG BT
their cubes is
I 185 168 . 1. 185:165
) : 1
g wa y PR SRR T T
(43‘/l : T 3. 185:158
« 1853158 27 3l 4 158:145
! 4. 158:145 A
373
:“"‘"qel 8
5
Stp o
15

|
‘
1
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43. In a quadrilateral ABCD, if Abl|CD,
£D =2 £B, AD = b and CD = a, then
the side AB is of length

. 2.9 AL T

2 A
\'. ‘ .

2. a+2b A

3. 2a-b '

i ,

a+b

R C
44, Two candles have different lengths and
- thickness. The shorter lasts 11 hours and
the longer 7 hours when both are lit

43. e & apfs ABCD # AbllCD,
4D =2 /B,AD =57 CD = g, & 4ol
AB ! &arg grfY

i, Sdb
2

2. a+2b

3. 2a-b

4, a+b

44, 1 ArERIal A T g AeE A )
9 S B U G STA™ET AT 8 al
BIEY 11 B 7 ¥ 7 ©e o &1 Ml

simultaneously. If after 3 hours of their D [P I oM W Ife 3 §e 1€ eF!
being lit together at the same time, both P TEE GHH B O S ar<fd
have the same length, then the ratio of SrTEAl BT AU ?
their original lengths is e
i &3 ¢ . 5:8
4f’j. 9 : o
T | 2 1114 005 y
\ 5 . | ) N\
3. 10:13 < = 3. 10:13 L 3
8 2 § \ _\7_-3-:%_\, \4. 7 1 5
/——.—_O-A:\:s. S z
b0 & Us Afgem 20 o

45. A lady reaches her office 20 minutes late
by traveling at a speed of 20 km/h and
reaches 15 minutes early by traveling at
30 km/h. By how much time will she be

PN AT TR 2 - -
2 T 30 fadt /9@ & R ¥ TeeN
15 e gl wgah &) IR I® 25

XA early or late if she travels at 25 km/h? fdt /gve & R ¥ 9 @ fhaw
" 5 ?
g%f;§<mwr#qa?mmné?%t§#ﬁ
L
, ; - L L .
+1 mfnute early \’l . 00 1. 1 PEe TR ’ )
2. 5 minutes early 2 2. 5 fiFe B = % &P
3. 1 minute late \};’ 3 1R
4. 5 minutes late L b 4 sfEERV 3
A0 \\Q‘ . ?‘\, ,n__}\x \ // & be
- ﬂ/ﬂ ./ - : P e r; -
2 /’F} 8 0 Se /j \/ v
%7 asa~ TG 450
220 o 2%
30 e W0 ) ’3 O )Y“\
oy N\ S L0 X
(XX, -6




Aryan Classes
www.aryanclasses.com

=
.
|
1

46. Three circles each of radius r units are 46, a §HIs B Yol dTA VS FHAE (30[ul
& + drawn inside an equilateral triangle of P 3R r THIE B! GEE BT 9 I
’ side a units, such that each circle touches gq 39 yeR dR M B 5 R A
T the other two and two sides of the ﬁmmmqﬁma‘raﬁa
triangle as shown in the figure, (P, Q and Brget @ &1 -ﬂﬁmﬁ P wef e g, (P,
R are the centres of the three circles). QaRs‘F{ﬁHQﬂ’f&?Eﬁﬁﬁ)lmrﬂ
Then relation betweenrandalsA a @ &g a2
1. a=2(3+Dr
| 2 a= (BB +1)r 1. a:z%/i:ll)r
(| 3 a= ('\/5"'2)?" 2- a: (Jg 2)"
4. a=2(3+2)r i L
: 4. a=2(\3+2r (2 !
0 &
B C '
47. Unit’s digit in the number (12357)%* is 47. W@ (12357)° & SHI% B WM BT 3B ©
1. 1 / -
. j .. 2. 3
\_.3<7 \ 2
4. 9 )
qL( 4. 9 A
48. If a cube has surface area S and volume 48. T UFH wA BN y
V, then the volume of the cube of surface AT V B @ 25 @rawer s~ s
area 28 is W) BT A B
L2V 65 =V L V2V
L —p N .
> 2 b :ng’_).\ % 2N
w22V g I, [ ¢ 3202V
» - == | 4. 4v
5{94.4\} 1 @3% & l
v 49. A ABC is a triangle with AB = AC and ~ 49. A ABC & Pyt & forei AB = AC 4 BC
3 BC =9 cm. If the height from A to BC is =9 M B IR A ¥ BC & Fa15 6 O
6 cm, then the height from C to AB, in TACITAB D oS N H &
cm, is
_ A
1 6.0 gm Io 6.0 {
2. 172 5 2. 12 ’
3. 75 A pn de T
4. 80 o B,
a_
b
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50.

S51.

52.

53.

MS

How many pairs of natural numbers are there
so that difference of their squares is 60?

. 4 2

2 3 iy

3. 2
‘hs

4, 1

The sumi of any three distinct natural

numbers arranged in ascending order is

200 such that the second number is a

perfect cube. How many possible values
are there for this number?

2. 3 -
’\‘@qi

If the digits of a three-digit number are
reversed, then the number so obtained is
less than the original number by 297. If
thd sum of the digits of the number is 8
and its hundred’s digit has the largest
possible value, then the ten’s digit of the
number is

R
1. 3 40 \
22 :

371 L 5§21

4. 0 %%:Q,,—.\'\

208

N

HI

S‘W

52.

297

\:s&ggm"l

QA

€ 557

If the sum of all the angles of a polygon
except one angle is 2220° then the
number of sides of the polygon is

1. 12
2. 13
3. 14

53.

wiga Wl @ W e g & e
ant T 3} 60 B?

- N W A

1
2.
3.
4

. IRE wh ¥ foedt 1€ W B wea

&Rl &1 AT 200 $9 UGR 8 P
fadra e @ of 59 81 39 9= B
fpam w=nfaa w79 87

ol ol o
- W s

gfe &9 3l & T= B iF wfaaia
= Y 9 99 39 YR Wi @ T
T gR<fdd T | 297 HH &) afe
T BB BT
B a1 S8 Tl IE

3
2
1
0

ol oA

IR T TGS D D DU B BISHY
gret wft BN H1oAn 2220° @ A
TS DI TR B W& &

12

13

14

15

P, P I e

T
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b}
54. ABCD is a quadrilateral whose diagonals 54,
intersect each other at the point O such
that OA = OB = OD. If ZOAB = 30°,
then the measure of ZODA is
300
2. 45°
3. 60°
4, 90°
55. A shopkeeper purchased 300 pens and  55.
sold one out of four pens at no loss or
profit. He sold the remaining pens at a
profit of 20%. What is his overall profit
or loss percent on the whole transaction?
\J/ 1S 30°
7 15% profit ‘r} %
2. 15% loss
3. 12% profit Q
L
4. 12% loss C
56. The value of the expression 56.
V34-242 x (4 +342) is
. R ETOY:
- 8
4.
57. If aabb is a four digit number and also a  57.
perfect square then the value of a+ b is
X 12 o
3. 10 @ L@_\_
4. 9 \ (8]
24§ VAR (¢
%_E.\_{ N NX]
2.0 \ 5

6

% Tt ABCD & e ta R @)
39 bR O fdg )k F1ed € & 0A =
OB =0D | afd ZOAB =30° §f ZODA
& A |

1. 30°

2. 45°

3. 60° g g

4. 90° 7L 26 27&

A8

TP HFER 7 300 0 @IS 7 4 W F
¥ 1 B R o @ w1 & 9a)
Il U BT I 20% T DAY 997 |

3 Wl W A wWT an SwREr g
&1 wforera Far 8emr?

1. 15% o
2. 15% &I
3. 12% oM™
4. 12% B

6. 3

D /34242 :

Ife aabb IR P & AT &2 T Th

of af A & @ a+ b A & |
0
S R
. Loalt
3. 10 Z"”?( 4 {‘—
4. 9 WSQ .
92 0| T

w4
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58. Forthedatal,2,2,3,3,3,4,4,4,4,.... 88 & (SW0) 1,2,2,3,3,3,4,4,4,4,..... axd
........ 9, 9, the product of mean and .99 R T T D
mode equals b5 TUFHe B A qIER BRI
2 4 \VRAKENY4 GXNXaBL 9 |
13 3. 57 cbxb kT X T £1%y 4310 3 57 | '|
AN 4285 v 4. 285
4}59. AD is a diameter of a circle. Two more g ADTG Ja S A e | AJARTTA ¥
_mt_) curclwpassth;oughAandmtersectADmB ToRd £ 9 AD B H9E: B 7 C W I
and C respectively, such that AB and AC are % 5 AB C 2
A%, diameters of these circles and AD>AC>AB. PR e AB T AC ¥ i
A If the circumference of the middle circle is @ § 9 AD>AC>AB| 3Rk 99 & gu
average of the circumference of the other 3 IR = @ & R &1 a
'\0\/\ two, then given AB = 4 units and CD = 2 A, 3R Rar g 2 f5 AB =4 337 @
e - P L e
&%, I B, § T A
5)’1 ' 1. 1287 - 1. 128
W 27 e4n 2. 64m B0
8\ 3. 487 3. 487
/;\' 4. 16= 4. 1l6=
b 60. If the sum of three consecutive odd 60. IfX &9 FHArFTa fAvA &R F1 AT |
numbers is a perfect square between 200 200 @ 400 & &rar gof gof & o 39 aT
* and 400, then the root of this sum is 1 A B
SR gl 4 . 15
> 2. 16 3 92> 2. 16
3. 18 ® . A 3. 18
8 A 4. 19
4. 19 \b—- o8 :
61. Which processes did” the English East 1. TTel ¥ ¥ T § e AfhaR
India Company follow just after acquiring W PR o1 D 918 AV I ear
the Diwani rights in Bengal from the HAT A DA 9iha IgAE?
Mughal ?
ughal emperor QKQ:B . S @ TR R
a. Mobilize the revenue resources. S b. D T 31 g aRafia fasar
b. Redefine the land rights of the people. ~—5. ¢, W4 & o T 798 Fal 31 SR
c.  Produce the cash crops it required. 5 d. & @ ey ¥ forr
d. Annexed the territory. _
| o > 1. RwasiRe
. aand conly
<2"aand b only o\\'/\ & g a al?z;;
3. a,bandconly t\hg 3. a, C
4. All of the above : Ob7 4. SWIE W
(L 2 2l “5\
)\ i \"/,\'
ey AN 9
2\
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62. Which of the following is correct?

1. Patola is a cotton cloth with
thread.

2.. Chintz is a printed fine cloth with
design.

3. Jamdani is a silk cloth with gold

k‘/thmd and embroidery.
7 Bandanna is a fine cloth with

gold

62. Prafaiaa ¥ # w8 &2
1. U W1 P AR 9T U ol a8

2. ©iec By feuEe aren e 789 o=
3. oW HYEeR R W9 @ arR

4, ¥ HUPA W cidhd Ud HeH

decorative motifs on it. T 2
63. Match the columns “Name” with “Work”  63. 9 &fcd & B Pfad § Ao
and select the correct alternatives. B o W& fRwey g |
Name Work ) i)
A|James Mill |1 |founded the Asiatic NEEELE I |tRuiRes d=rdl 3ie
Society of Bengal T Y AT Dl
B [William Carey |11 |criticized the Orientalists| [B|[faferga X |11 |urafast @ e
C|William Jones |III | surveyed the progressof | |C [faferm Smwr |1 [ w1 & wpet A
education in vemacular Rer & wifd @1
schools Hdeor far
D |William Adam |IV |established the D|Rferaw ven [V [Zomin fsm & wonoar
’ Serampore Mission
¥ A-II, B-1V, C-I, D-III I. AL BV,
2. A-III, B-I, C-IV, D-II 2 AJILBL.
3. A-l, B-II, C-I, D-IV 3. A-IIL B-II, C-I, D-IV
4. A-IIL, B-1V, C-II, D-I 4. A-I1I, B-1V, C-II, D-I

64. Which of tile following statements
regarding the Act of 1858 is incorrect?

1. The English East India Company
continued to enjoy trading monopolies
i India.

. A Secretary of State for India was
appointed with an India Council to
advise.

3. The British Crown became the direct
ruler of India.

4. The Governor-General was given the
title of the Viceroy.

o
Y=

21

64. 1858 @ TUac @ IR # 9 & o9 w1
FUA T 77

1. 3ol X< fear AT 9Ra #
YR BT THIAGR TGad! & |
2. YRd @ fog, A i e
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6>. wny was the Delhi Durbar organized in
1877 with pomp and show?

1. The Viceroy wanted to display the
wealth and prosperity of India.

2. The British wanted to threaten the
people by displaying their army

fngth.
7 The British wanied to replace the

Mughal emperor from the minds of
the people as their rulers.

4. The Viceroy wanted to appease Queen
Victoria.

66. Arrange the following social reform
organisations chronologically on the
basis of their foundation.

Arya Samaj

Prarthana Samaj

Veda Samaj

Srce Narayan Dharma Paripalana
Yogam

Tl D

I ayd, b
2. a,b,c,d
3. q,c,b,a
"¢, b,a,d

67. Why did the cotton factories in India
grow during the World War 1?

1. Masses refused to wear foreign clothes

Z)ecause of Swadeshi appeal.
27 Textile imports from Britain declined

because the demand of military supplies
from Indian factories increased.

3. The Government in England lowered
the import duties on Indian cotton
textiles.

4. The Indian cotton industries started
producing  cotton . clothes  at
competitive prices.

65. 1877 ¥ & IANEN®T » W ol

3 Tl GHIE S99 IHE & Tg 91d
gﬂma‘»ﬁmﬁmmaﬁa
|

4. gizERE T iR &1 w6
AT FTEAT oAT |

a,d,c,b
a, b;c;d
d,c,b,a
c,b,ad

o

67. wyH fawa gg @

1
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]

¢
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i

R (—Aeale self respect in the minds of

68. Assertion
(A): William Jones and Colebrooke went
about discovering the ancient
texts of India.

Reason
{R): Because they were orientalists.

L. A isnot correct but R is correct.
A is correct but R is not correct.
3. A is correct and R is the correct
2 explanation of A.
- 4. Both A and R are correct but R is not
the correct explanation of A.
~ @. The non-Brahmin movement was
' launched by E.V. Ramaswamy Naicker

i T

‘§ - mainly to
7

i Dravidians.

2. oust the Brahmins from Tamilnadu.
3. .humiliate the Brahmins.

4. acquire political power.

% 70. Find out the incorrect statement.

R
1. The European artists brought with
’{; them new styles and new conventions
bl of painting.
et 2. The European artists brought with
- them the idea of realism.
. 3. The European used oil painting which

produced images that looked real.

«4~The European artists learnt the
technique of oil painting from the
Indian artists.

71. Which Five Year Plan gave the maxium
thrust on the industrial growth?

1. First Five Year Plan
-2~ Second Five Year Plan
3. Third Five Year Plan
4. Fourth Five Year Plan

23

69.

68. IfHHAA

(A):Rafem 99 3R PIogd WRd B
g Tl B @ = |

s

(R): i 7 yraafdg o

1. A 98! 981 8 «ifa R w8 &

2. A GE g ofeT R 9 7Ef &

3. A Hal g 3R R A 9 9! aar&n
8

4. T A R R W& 8 ofdT R A &Y
e e JEl '

A M TRHR N1 IR—SEIT

=T AR™ B Tar gEa:

1. ofest & 79 ¥ o= T H
g

2. TG W ATETON BT 98T BRA B forT

3. FEON B = o= &

4. IIOHI® T U

70.

71.

I FAT P TG D

—_

R REeR o wR fREw
o 7% el 7 73 IR T |
R fEeR s | gurfare
P! AR o |

RUER o e wva F i
o arxfd® orar o |

Wiy REeRI 3 ARAE REERI
H O i & ddere Gl |

e doadfa Qe A el gfg w

e e fear —

1. "UH GgqErd I
2. fedw daadfa Qo
3. A dgadd drerr
4. Tqgd GEIErg Irorm
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72. Match the following list of subjects
which come under the purview of the
distribution of powers and select the
correct alternative.

List Subjects el v
A |Centrai List [ [Railways A 3= @ 1 |Xem
B [State List 1 |Health B |5 g TR
C |Concurrent List [IIl1 |Foreign affairs C |\wadl = 1 [feeeh amet
D |[Residuary List |[IV |Water disputes D |aafRre ﬁiﬁ v |5 fRare
I. ALBILCIILDIV 1. ALBILCILDIV
2. ALBILCIV,DIII 2. ALBILCIV,DIII
LV!V,BI!I,CII,DI 3. AIV,BIILCILDI
“AINLBILCLDIV 4 AINLBILCLDIV
73. Which of the following statements are  73. Tl AT & Ix # f=forRaa # &
correct about the Planning Commission? PIET FUT HE 27
a. It is a constitutional body created by a. J8 TEE gNT 1950 ¥ fAffa waenfa
s the Parliament in 1950. Ao 2
b. It acts as an advisory body to the b. I8 HHY WA
Union Government. g 2
c. The Finance Minister is the ex-officio c. 39 Prom F
chairman of this body. g4 2 T
d. Its basic function is to formulate m 5
priorities for the Five Year Plan for d' E'E m
integrated economic and  social ﬁ ﬁ:'l &
development ferq &l
. aandconly. 1. dag addRc
2. bandd only. 2. »ad b3k d
372, cand d obly. 3. @ad a,c3dRd
4. donly. 4. e d

24
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74. What does the ‘mixed economy’ in India

74. 9Rd ¥ fAf¥a sefagaer &1 @ e

ﬁ mean? 14
1. Companies of foreign countries can 1. 9Ra B faEer & e #
B play an equal role in development of firel = wwfEl R @
India’s economy. T e |t 2 |
i 2. Special privileges are given to. foreign Z ﬁ'”‘;'ﬂ il 'iﬁ'a’ﬂ' %ﬁﬁ‘ﬁ“a“ﬁfam‘
companies by the government for & e ¥
= investment in India. :
s . , . 3. WRa @ faoh wwf o &t
N 3. Private companies ot: India are defe a3 ¥ R o @)
- allowed to invest in public sector. Ay 2|
- g/E'-ﬁvate sectors play a complementary 4. oot &= wrdwf e &3 & |
~_ role along with the public sector. TE & qfHer e 2
Non-alignment movement which was the  75. T fiR%1 M=o, S 48% o1 fa<w
basis of Nehru’s foreign policy meant MY BT AR o, BT e ?
that
| : . :
1. India would remain neutral in world 1. faeg wo il # WA dewr |
’ politics.
- 2. India would not participate in any 2. IAR@T 3
way, not even as mediator, to end TS $T
conflicts between USA and the Soviet fl, T8 @
Rt Union. R A, IRG *ner e et —
<37 India would not participate in power 3. IR&T R wifdga §u @ 7
g rivalries - and ideological conflicts wifda wfavertell aon daRe gt &
between the USA and the Soviet HNA 91T F8f |
. Union.
[ & 4. India, along with other like minded 4. v worfy # 9Ra, Wfdad w9
Asian and African countries, would IR WRaT SHT @ ey, M
create an equally strong Third Front in fear o e R g i
world politics in opposition to both the W B A eey td wHes
USA and the Soviet Union. GRS g s
25
By | |
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~ 76, Which or wmcroflowing best describes
“jet streams™?

1. Wind system with seas and reversal of
direction.

Wind blowing from sub tropical high
pressure belts towards the tropical low
pressure belts.

3. Narrow meandering bands of winds
which biow in mid latitude near the

tropopause and encircle the globe.

4~ Winds blowing from the tropical high
pressure belts towards the equatorial
low pressure belts.

77. Intense damage was caused in Ladakh in
2010 due to which natural calamity?

1. Mud flow
2 Landslide

3. Eagthquake
4. Drought

78. Which of the following comes under the
category of ‘footloose industry’?

1. Iron and steel

2. Cotton textile

3. Information technology
4. Petro-chemical

76. fFr=faRaa & @ @9 Sie €9 @
Syga @ ¥ aftfa @war 87

1. 9% & W U9q YA vd fQua
feam|

HEIW Bfeaig 9w ¥R ofear &
Sw Hfegwig = wR ofeal
U TR% g arell 2 |

A @ IR AR warfed 8

S Hfegwlly STa R UEdl ¥
=y ofedl & iR
o= arelt gard |

77. f9 wrgpfasd amger | R ¥ 2010 A
e farer gam ar?
1. U yaE
PR GER
3. Y9
4. @l —
78. fr=fafeaa § S/ “geoqw SarT @
Soft & st 27
1. 18T Ud g
2. g9 ST
3. e et
4. Uy W
26
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F

=

and rainfall during growing season and
bright sunshine at the time of harvest.”
Which other crop requires the same

t = geographic conditions?
L Rice
.' 4 Jute

79. Consider the following population 79, & [ @or Il ¥ oy T fAm=feRed
pyramids and  associated  policy e fRfel qunr wwfya A
implications shown in column I and II. mral R faar e | 9 9 Sear
Which of these options show the most fReer Sugat g™ & yeifa swar 2°
appropriate match?

Column I : Shape of the | Column II: Policy w1 o g m M

<5 population pyramids Implications g m

~ #A | Broad base, X | Hub of g
- § | wapering top outsourcing of A | 980 MR, X | 5 e

o labour intensive geaR wnd TEd ST B

; % jobs AT FT D=

= zf’“'b“e Ll s B | @i oMR, 982 | Y | wvet v

- middle, immigration e 3 o

: tapering top laws to meet 4

needs of elderly
care

€ ! Narrow base, Z | Focus on C | g R Z
narrow middle, reducing birth W w1, 98¢
broad top rates i
]

1. AX, BY, CZ I. AX, BY, CZ -
27AZ, BX, CY 2. AZ, BX, CY
3. AY, BZ, CX . 3. AY, BZ, CX
4. AZ, BY, CZ 4. AZ, BY, CZ
“Wheat requires moderate temperature 80 T Pl TET FIel B HHI HeAH AGHA

U9 quf qAT BEA D GHI AF g9 Bl
IEEIHAT BT BT JY BEAT HEA
DI M HrMferd TR P NaTIHar
Bt 87

EICK]
HTpT

R4l

it A
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= the likely Toad content of a river near its
delta? 81. fr=iforRaa sl # diwar 7k @ Ieer

P TN THHE AR B qE P el
- = = T 87 -

1 2

B Boulders H AT
Gravel and Sand IO TG qre]
Silt and clay e qd Hiorar

82. Given below are some factors influencing 82, @ RA T FB FRe

the location of certain industries RIGAT HT gHIfdd S & |
]
a. Skilled labour a. QU A
b. Low transporation cost b. P AR AT
c. Clean and dustfree environment: :l. -‘:ﬁ?“?;%ﬁ e arrawer
:. Availability of raw material . &y A TR

Government policy

Which among these have more strongly HRA P SN, ST B WO F T Y
influenced location of IT industry in e waifts wia e 87
India?
1. a,bandc 1. abd®ac
2. b,candd 2. Bemud
3' c’dande 3. c,diATe
o8 4, chdl e
47 a cande %
28
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83 Consider the following industrial regions ~ 83. ¥RT 3 fr=fafea alenfis sl «®
of India. frar HIf |

—_

ly Industrial region
“ Gurgaon-Delhi-Meerut industrial region
¢ Ahmedabad-Baroda industrial region
":.;?- & Mumbai-Pune industrial region
& Bangalore-Tamilnadu industrial region
£ Chotanagpur industrial region
‘g Vishakhapatnam—Guntur  industrial
region

: _': of these lies outside peninsular T A PN TSN ARG & e R

? 4

b,dandf 1. abdaerf

" 2 b,cdandf 2. bc,dauf
3. b,d,fandg 3. b,d,faurg
4 ab,candf 4. abcaurf @

]
Ll The following is a list of towns where 84, Fr=ififad wedl & Ta ¥&@ & w&f
' steel plants are located in India. ARd @ g sanr R &)

" A Bhilav A. g
B. Jamshedpur~. \ g RIS

- C. Durgapur ~ D- S Ilgﬂl

~  D. Bhadravati- E.‘ R

- E. Rourkela s F Q@R
F. Bokaro G. Je™

¥ G. Salem H. . R

H. Vijay Nagar .
Which of the following sequence is e % & @ B <Rl aRa # R
located within south India? &
l. C,DandF 1. C,Daar F
2. A,DandH 2. A,Daar H
3, GandH 3 D,GanH
4. E,GandH 4. E,Gaa H

29 "
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85. Column 1 shows the types of natural
vegetation while column II shows the
climate type.

85. ™ | WiGfd Ty & YHRI B o

W | oA @ YR 31 g9 ¥ |

Column I Column 11

A | Evergreen Forests |1 Arid

B | Deciduous Forests hll Semi-humid

C | Grasslands IIT | Humid

D | Thorny bushes IV | Semi arid

w1 @ 11
A |wEEER g |

B |plufras |1

C |99 &%= |1l

Which of these options show the most
appropriate match?

1. AILBILCIV,DI
L2ANLBILCIV,DI
3. AIILBILCLDIV
4, AIILBIV,CILDI

86. Assertion
(A): The tropical rainforests are mostly
evergreen.
Reason
(R): The regions of tropical rainforests
get abundant rainfall and have low
_ temperature throughout the region.

-—r./BoﬁaAandRmmdeapmA.

2. Both A and R are true but R does not
explain A.

3. Aistrue but R is false.

4. Ais false but R is true.

. YA

7 ol § 4 waits Swgw =
B 87

AILBILCIV,DI
ANLBILCIV,DI
AINLBILCLDIV

AINLBIV,CILD! w
A

(A) 991 BT asfe  ger:
WEER ¥ |
HROT

(R) ST Hfegy aufas wew I TeF
9 W BRI E T R WRY F
o= A @ar 2|

1. ATIT R I €& 2 TR, A 9N
W HYal & |

2 ATTRIA TS 2 fBgR A &
TE 9T 8

3. A8 e fbgR TG R

4 A 7oA 2 fEg R @& 2

W N e
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. (hﬂu the following statements.
N " A In India, cropland occupies 57% of

B. Pastures account for 56% area in

- Aastralia.

€. About 2/3" area in Japan is under

"Mldbeunderstood from the
bove statements?

2 India has subsistence agricultural
- economy, animal husbandry is the

st of the cultivable land in India is
~ devoted to crop cultivation; in

- confined to small proportion and most
- of the land is used for grazing. Japan
- has conserved its forest resources.

. India has a faulty land use system,
Australia has extensive land use and
Japan has small cultivable land.

31

87. 1 FoHl W) AR R |

A WA H SR 4R g &3 T
gl 4

B. ITefrar ¥ =RIE M 56%

C.gnuﬁﬁaa'ﬁaz/aéaaﬁﬁéﬁ
|

IWRITT HYAT A FT GHSAT A1MBY?

wﬁqﬁv@nmﬁﬁm%
Srafe AT forar v WU # weTaN
qf TR 21
2. ARG ¥ et @ 4
anfefet, amegferar # anfdy

-

UqUTEE 9T WgE o aifer ygE
Tfafafy 21

3. 9Rd ¥ WRMR $HN Iy W
BHa off Wrft 2, smforar § iy
&4 M| a3 4 o IRFw i
&1 IYANT TRITEl @ forg far wwar
g.waﬂmaﬂ’fawmm
|

4. 9Ra ¥ Y Swahr yomeh Ffegef @,
Jregferar 4 gff Syahr fawiof 2
TAT S § HEFET @S Bie # |
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Wiy i . atements: 88. frrferfad seml W fa=mR #Rm | -
: A. tthe Tundrar region, animals have A. TOZ RY A MA@ HIC GR a A =
thick fur and thick skin. @ Bt B .
B. Most of the animals in grasslands are B. U9 & ATMl § SRR Uy AHER
herbivores. g o
C. In tropical rainy forests, many C. Swipfeaeliy auf ot #, ¥ WA
animals live on trees. 38l W w2
. . ; frafafed § @ @99 9o s *
Which of the following best explains SE aHgaT 27
these statements?
ul.);ependcnce of animals on natural 1. Rl @ urhfae gawfd w®
vegetation. _
2. Exploitation of wildlife and natural 2. Fgelld QU1 GRS Ty F1 UG
vegetation. '
- 3. Relationship between density of 3. W Td Fondl B °dd @l
vegetation and wildlife. S
4. Adaptation to natural environment 4, UIHfaE qaTaRer | AgHeT
89. Study the figure below showing the  89. = _a LER LA oI ST I
components of water cycle represented v et w5 & wedl 1 P, Q,R, S, T
byP,Q,R,S, T. g1 yeRfa fasar mar 2|
5 T P - quur
v <—{ CONDENSATION| Q-3uare s
[PRECIPITATION| T T ol s
J' l S — 9=
¢ | EVAPORATION |
Q TT T — &40
LAND '
R SEA
| GROUND WATERI\
Which of the following can be harnessed fr=foRea & & feaer Se ant oid
to conserve rain water? e ¥ a1 o wear 87
1. QS 1. QS
27P,Q 2. P,Q
3. P,S 3. S
4. S, T 4. S, T
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Y - :-7. is associated with use of
=1 material to maintain soil moisture.
2 soil to build barrier.

: ﬁ. trenches to collect water.
4 piled up rocks to slow down the flow
L. High Courts in the following cities were
~ esmblished at one time or the other.
. Mentify the sequence in which they
- appeared.

& Allshabad

- B Bombay (Now Mumbai)

’l . —I I

L acdb
. 2 c¢dab
§ acd
& db,ac

» Fundamental Law of the land is called

-

1. State

'j -2 Constitution

% 3. Parliament Act
4. Ordinance

Indiais a

a. Socialist

- b. Secular

- ¢ Sovereign

~ d. Democratic Republic

Identify the correct sequence as maintained in
- dtymnble of the Indian Constitution.
ItL ; = c‘a'b’d

& 2 b,cad
3. ¢adb
<: 4" a’b!c)d

33

90. UTTAR (GTH UTd) TheT HHfRT &

1. T IEA BT AT FH D TR

2. U DT ARED T

3. U B TS HR AN Tl

4. UM B A B OB -
I BT TFA T 4L

9. F TR A s IEe@ v @l
T Y W T § W @ ¥ 9§
B |

EGUSCICS
T (99 §)
feeeh

AT

A op

. acdb
c,d,a,b
b,a, c,d
. d,b;a,¢
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94. Right to the enjoyment of pollution free
water as interpreted by the Supreme
Court in Subhas Kumar Vs. State of
Bihar (1991) falls under

1. Right to Equality
2. Right to Liberty
3. Right against Exploitation

_4Right to Life and Personal liberty

95. Freedom of media is guaranteed under

-——/Liberal system

2. Rule by the proletariat
3. Benevolent ruler
4. Religious ruler

96. Economic presence of the government in
social realm is found under

I. Fundamental Rights
2, /Fundamental Duties

. Directive Principles of State Policy
4. Pglicy for determining citizenship

97. Assertion

(A) : The people in between the
producers and the final consumers
are traders.

Reason

(R) : The people who finally sell the
commodities to the consumers are
retailers.

1. Both A and R are true and R is the
rrect explanation of A.
.. Both A and R are true and R is not the
correct explanation of A
3. Aistrue but R is false
4. A is false but R is true

ITIR W T (I W aex)
- IUART B BT AR = F amar B
FHET BT AP R

95.

97. _
(A) SRS AR AfaH IyurEmai
g ) €|

FHRYT

(R) ¥ afd o a7 H SR B
- age @1 e BRa € geaR @
g

1. T A @7 R W8 & 3R A 37 9
ST R 2|

2. T A 7T R 98 € 3R A &1 98
WA R 78 2

3. A 98 2 fg R 3w B

4. A WA 2 fg R ¥ 2|
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;g “*checks and balances’ is
) .
|
- Fundamental Rights
: Mnmtal Duties
Ed ion of Powers
g Wlich one of the following is not an
elected member of the House?
w of the Lok Sabha
2 Peputy Speaker of the Lok Sabha
_ ‘Chairman of the Rajya Sabha
5 ‘h‘y Chairman of the Rajya Sabha

"1 ‘besic democracy.
2. controlled democracy.
~ 3. guided democracy.

& Tiberal democracy.

B
e

R

98. ‘frav 3R wege &1 Rigr Wi
2

fafy & s @
T ABR A
o FHar A
PR B gergror A

sl o

99. 1 # & B e FT T A WA
T2 87

ANB THT BT e

D AT BT SUTETET
I AT BT JATfT
AT FAT BT SU—FAM

ol L o

100. WRT ¥ &

L SRSIGES
frrafsa o
IEERGRNIGE!
RS NIGE

S WO N b
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